

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global EV513 2-Pack		
EFG					
1	2	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$410.00
			·		
			Skipped Option Skipped Option		
2	1	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$136.00
			China ad Ontion		
			Skipped Option		
3	1	EVE8FR1	72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
			·		
			Skipped Option		
4	2	EVE8PD36	36", Power Distribution Housing	\$ 231.00	\$462.00
			Skipped Option		
5	1	EVE8RD1WHT	#1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
6	1	EVE8RD2WHT	#2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
			Skipped Option		
7	1	EVE8RDAWHT	A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
			Skipped Option		
8	1	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$41.00
			Skipped Option		
9	3	EVHC18L	18", Left, Single Cantilever	\$ 110.00	\$330.00
			China ad Ontion		
			Skipped Option Skipped Option		
10	3	EVHC18R	18", Right, Single Cantilever	\$ 110.00	\$330.00
70	J	LVIIOTOR		Ψ 110.00	Ψ330.00
			Skipped Option		
			Skipped Option		
11	1	EVHCB2	Corner Brackets Left and Right (Pair)	\$ 31.00	\$31.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
12	2	EVHFB1	Flat bracket (Available in Black Only)	\$ 21.00	\$42.00
			Skipped Option		
13	1	EVHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			Skipped Option		
			Skipped Option		
14	1	EVHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			Skipped Option		
			Skipped Option		
15	1	EVPCPA354	54"h, 3 Way Post, Includes Post, Hardware & Aluminum Trims	\$ 335.00	\$335.00
			Skipped Option		
			Skipped Option		
16	3	EVPERA54	54"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 123.00	\$369.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
17	4	EVPFAM5424	54"h x 24"w, Monolithic Fabric Acoustic Panel	\$ 411.00	\$1,644.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
18	4	EVPFAM5436	54"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 531.00	\$2,124.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
19	5	EVPIC54	54"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 92.00	\$460.00
			Skipped Option		
			Skipped Option		
20	2	EVS1219BFLCM	19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00	\$1,742.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
21	1	EVS12TSO542FL	54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.00	\$3,531.00
			Skipped Option		
			Skipped Option		
22	1	EVS12TSO542FR	54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.00	\$3,531.00
			Skipped Option		
			Skipped Option		
23	2	EVWS2436P	24"d x 36"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 180.00	\$360.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
24	2	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops,	\$ 394.00	\$788.00
27	-	244024721	3mm PVC Edge Trim	ψ 004.00	Ψ700.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAC CURTOTAL . \$ 17.740.00		

ALIAS SUBTOTAL: \$ 17,740.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global EV513 4-Pack		
EFG					
25	4	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$820.00
			Skipped Option Skipped Option		
26	2	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$272.00
			Skipped Option		
27	1	EVE8CP18	18" - Flexible Mesh Jumper Cable, Used to Connect 2 Power Distrubution Housings Separated by Post	\$ 156.00	\$156.00
			Skipped Option		
28	1	EVE8FR1	72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
			Skipped Option		
29	4	EVE8PD36	36", Power Distribution Housing	\$ 231.00	\$924.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
30	2	EVE8RD1WHT	#1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
31	2	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
32	2	EVE8RDAWHT	Skipped Option  A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
33	2	EVE8RDBWHT	Skipped Option  B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$82.00
34	6	EVHC18L	Skipped Option  18", Left, Single Cantilever	\$ 110.00	\$660.00
35	6	EVHC18R	Skipped Option Skipped Option  18", Right, Single Cantilever	\$ 110.00	\$660.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
36	4	EVHCB2	Corner Brackets Left and Right (Pair)	\$ 31.00	\$124.00
			Skipped Option Skipped Option		
37	4	EVHFB1	Flat bracket (Available in Black Only)	\$ 21.00	\$84.00
			Skipped Option		
38	1	EVHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			<ul><li> Skipped Option</li><li> Skipped Option</li></ul>		
39	1	EVHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two	\$ 292.00	\$292.00
00	•	LYTIME OF THE	Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	<b>V</b> 202.00	Ψ202.00
			Skipped Option		
			Skipped Option		
40	1	EVPCP454	54"h, 4 Way Post, Includes Post, Hardware & Top Cap	\$ 393.00	\$393.00
			Skipped Option Skipped Option		
			11 -1		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
41	1	EVPCPA354	54"h, 3 Way Post, Includes Post, Hardware & Aluminum Trims	\$ 335.00	\$335.00
			Skipped Option Skipped Option		
42	5	EVPERA54	54"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 123.00	\$615.00
			Skipped Option Skipped Option		
43	8	EVPFAM5424	54"h x 24"w, Monolithic Fabric Acoustic Panel	\$ 411.00	\$3,288.00
			<ul> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul>		
44	8	EVPFAM5436	54"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 531.00	\$4,248.00
			<ul> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul>		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
45	10	EVPIC54	54"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 92.00	\$920.00
			Skipped Option Skipped Option		
46	4	EVS1219BFLCM	19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00	\$3,484.00
			Skipped Option Skipped Option		
47	2	EVS12TSO542FL	54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.0	0 \$7,062.00
			Skipped Option Skipped Option		
48	2	EVS12TSO542FR	54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.0	0 \$7,062.00
			Skipped Option Skipped Option		
49	4	EVWS2436P	24"d x 36"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 180.00	\$720.00
			<ul><li>Skipped Option</li><li>Skipped Option</li><li>Skipped Option</li><li>Skipped Option</li></ul>		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
50	4	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$1,576.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		

ALIAS SUBTOTAL: \$ 34,682.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global EV513 6-Pack		
EFG					
51	6	EVCUSHION15X19X1	15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$1,230.00
			Skipped Option Skipped Option		
52	3	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$408.00
			Skipped Option		
53	2	EVE8CP18	18" - Flexible Mesh Jumper Cable, Used to Connect 2 Power Distrubution Housings Separated by Post	\$ 156.00	\$312.00
			Skipped Option		
54	1	EVE8FR1	72" Long, Floor Power Entry, Front Fed, Snaps into Knockout	\$ 367.00	\$367.00
54	•	EVEORY	of Base Raceway	φ 307.00	φ301.00
			Skipped Option		
55	6	EVE8PD36	36", Power Distribution Housing	\$ 231.00	\$1,386.00
			Skipped Option		
			••		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
56	3	EVE8RD1WHT	#1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
57	3	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
58	3	EVE8RDAWHT	Skipped Option  A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
59	3	EVE8RDBWHT	Skipped Option  B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$123.00
60	9	EVHC18L	Skipped Option  18", Left, Single Cantilever	\$ 110.00	\$990.00
61	9	EVHC18R	Skipped Option Skipped Option  18", Right, Single Cantilever	\$ 110.00	\$990.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
62	7	EVHCB2	Corner Brackets Left and Right (Pair)	\$ 31.00	\$217.00
			Skipped Option Skipped Option		
63	6	EVHFB1	Flat bracket (Available in Black Only)	\$ 21.00	\$126.00
			Skipped Option		
64	1	EVHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			<ul><li> Skipped Option</li><li> Skipped Option</li></ul>		
65	1	EVHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			Skipped Option Skipped Option		
66	2	EVPCP454	54"h, 4 Way Post, Includes Post, Hardware & Top Cap	\$ 393.00	\$786.00
00	_	LVI 01 404		ψ 333.00	Ψ700.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
67	1	EVPCPA354	54"h, 3 Way Post, Includes Post, Hardware & Aluminum Trims	\$ 335.00	\$335.00
			Skipped Option Skipped Option		
68	7	EVPERA54	54"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 123.00	\$861.00
			Skipped Option Skipped Option		
69	12	EVPFAM5424	54"h x 24"w, Monolithic Fabric Acoustic Panel	\$ 411.00	\$4,932.00
			<ul> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul>		
70	12	EVPFAM5436	54"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 531.00	\$6,372.00
			<ul> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul>		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
71	15	EVPIC54	54"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 92.00	\$1,380.00
			Skipped Option Skipped Option		
72	6	EVS1219BFLCM	19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00	\$5,226.00
			Skipped Option Skipped Option		
73	3	EVS12TSO542FL	54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.0	00 \$10,593.00
			Skipped Option		
74	3	EVS12TSO542FR	Skipped Option  54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.0	00 \$10,593.00
			Skipped Option		
75	6	EVWS2436P	Skipped Option  24"d x 36"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 180.00	\$1,080.00
			Skipped Option		
			<ul><li>Skipped Option</li><li>Skipped Option</li><li>Skipped Option</li></ul>		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
76	6	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$2,364.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAS SUBTOTAL: \$ 51,624.00		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
EFG			Global EV513 8-Pack  15"w x 19"d x 1"h, Pedestal Seat Cushion, Cushions are for		
77	8	EVCUSHION15X19X1	use on EVS12xxBFLCM Mobile Pedestals Only	\$ 205.00	\$1,640.00
			Skipped Option Skipped Option		
78	4	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$544.00
			Skipped Option  18" - Flexible Mesh Jumper Cable, Used to Connect 2 Power		
79	3	EVE8CP18	Distrubution Housings Separated by Post	\$ 156.00	\$468.00
			Skipped Option		
80	1	EVE8FR1	72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
			Skipped Option		
81	8	EVE8PD36	36", Power Distribution Housing	\$ 231.00	\$1,848.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
82	4	EVE8RD1WHT	#1 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
83	4	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
84	4	EVE8RDAWHT	Skipped Option  A, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
85	4	EVE8RDBWHT	Skipped Option  B, Dedicated Circuit, Duplex Receptacle, White	\$ 41.00	\$164.00
86	12	EVHC18L	Skipped Option  18", Left, Single Cantilever	\$ 110.00	\$1,320.00
87	12	EVHC18R	Skipped Option Skipped Option  18", Right, Single Cantilever	\$ 110.00	\$1,320.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
88	10	EVHCB2	Corner Brackets Left and Right (Pair)	\$ 31.00	\$310.00
			Skipped Option Skipped Option		
89	8	EVHFB1	Flat bracket (Available in Black Only)	\$ 21.00	\$168.00
			Skipped Option		
90	1	EVHMEG24L	28"h x 23"d, Metal End Gable, Left, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			Skipped Option Skipped Option		
91	1	EVHMEG24R	28"h x 23"d, Metal End Gable, Right, Does NOT Support Two Adjoining Worksurfaces, Includes Leveling Glide and Sleeve	\$ 292.00	\$292.00
			Skipped Option Skipped Option		
92	3	EVPCP454	54"h, 4 Way Post, Includes Post, Hardware & Top Cap	\$ 393.00	\$1,179.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
93	1	EVPCPA354	54"h, 3 Way Post, Includes Post, Hardware & Aluminum Trims	\$ 335.00	\$335.00
			Skipped Option Skipped Option		
94	9	EVPERA54	54"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 123.00	\$1,107.00
			Skipped Option Skipped Option		
95	16	EVPFAM5424	54"h x 24"w, Monolithic Fabric Acoustic Panel	\$ 411.00	\$6,576.00
			<ul> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul>		
96	16	EVPFAM5436	54"h x 36"w, Monolithic Fabric Acoustic Panel	\$ 531.00	\$8,496.00
			<ul> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul>		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
97	20	EVPIC54	54"h, Inline Panel Connector, Includes Post & Hardware, No Trim	\$ 92.00	\$1,840.00
			Skipped Option Skipped Option		
98	8	EVS1219BFLCM	19"d x 24.125"h, B/F w/ 60 mm castors, Mobile	\$ 871.00	\$6,968.00
			Skipped Option Skipped Option		
99	4	EVS12TSO542FL	54"h x 24"d, 4H, Side Storage Tower, FF, Left, 1200 Series	\$ 3,531.0	00 \$14,124.00
			Skipped Option		
100	4	EVS12TSO542FR	Skipped Option  54"h x 24"d, 4H, Side Storage Tower, FF, Right, 1200 Series	\$ 3,531.0	00 \$14,124.00
			Skipped Option		
101	8	EVWS2436P	Skipped Option  24"d x 36"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 180.00	\$1,440.00
			Skipped Option Skipped Option		
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
102	8	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$3,152.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAS SUBTOTAL: \$ 68,566.00		

**TOTAL EXTENDED LIST:** 

Page 23 of 23

\$172,612.00